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TRUONG DAI HOC VAN LANG
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THI KET THUC HQC PHAN
Hoc ky 2, nam hoc 2024-2025

I. Thong tin chung

Tén hoc phan: | Morphology & Syntax
M3 hoc phan: | 71IENGL40523 Sé tin chi: | 3
M3 nhom 16p hoc phéan: | 242 71ENGL40523 01

Hinh thirc thi: Tric nghiém két hop Tuw luin Thoi gian 1am bai: | 75 | phut
Thi sinh dwo'c tham khdo tai li¢u: 1 Co Khong

II. Céc yéu cau ciia dé thi nham dap img CLO

J <X Lay dir
Ky Hinh | |1oN¢ St‘;thO Cau | DM | ey do
higu | Noidung CLO | thire ong At - ySithi| o | lwong
. g phan danh gia £ toi ,
CLO danh gia (%) i} da mirc dat
PLO/PI
@ | 2) 3) “) ) (6) ()
Ap dung kién thtrc
vé cach cau tao tir,
cac quy trinh hinh
thanh va cac quy
tac phan tich tir Tric
CLO1 | vungtiéng Anh dé | nghiém+ | 50% Section | ¢,
phan tich chinh xac | Ty luan 1,2,3,
cAu tao tlr trong 4
Tiéng Anh va sir
dung tir mgt cach
chuan xAc.
Van dung kién thuc
vé chirc nang va vi
tri cia mot tu hay
nlot, cum v ,trongA Tric Section
CLO2 | 3% cacbuGephan o oo+ | 50% 1,2,3, | 5d
tich cau va cau tao Tu ludn 4
cautiéng Anhdéco | *
thé viét va ndi
Tiéng Anh mot
céch chuén xéc.
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I11. N§i dung cau héi thi
PHAN TRAC NGHIEM (5.6 diém)
SECTION 1 (16 questions, 0.2 mark each)
Choose the correct answer A, B, C or D. (3.2 marks — 0.2 each)
Which word is the head of the noun phrase “a tale about a brave knight?
A. tale
B. knight
C. tale and knight
D. a tale

ANSWER: A

The syntactic function of the underlined phrase in the sentence “Insects often drive me
Cragy.” is coeeeeveeennnns

A. object complement
B. predicator

C. subject complement
D. indirect object

ANSWER: A

Which of the following words has the biggest number of morphemes?
A. contained

B. moved

C. matricide

D. interesting

ANSWER: A

Which is a headed compound?
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A. cupcake
B. pickpocket
C. cutpurse
D. scarecrow

ANSWER: A

Which one is the derivational paradigm of the word ‘break’?
A. breakable, breakage, breakability, breaker

B. breakage, broken, breaks, unbroken

C. breaking, break, broke, breakable

D. breaker, broken, broke, breaks

ANSWER: A

Which is a simple word?
A. moron
B. current
C. hotdog
D. solvent

ANSWER: A

Which sentence has a non-finite clause?

A. Excited by the news, he called his friends immediately.
B. That he is still alive is a miracle.

C. When he arrived at the airport, he called his wife.

D. The woman who is standing at the corner is my aunt.

ANSWER: A
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Which is NOT a complex sentence?
A. It’s an old car, but it’s very reliable.

B. She looked at me as though she had seen a ghost.

C. Although it was raining, we decided to go for a hike.

D. He said that he would come back soon.

ANSWER: A

Which is a compound sentence?
A. They didn’t come, nor did they send us a message.

B. I don’t care who you are.

C. We didn’t enjoy the day because the weather was so awful

D. The man in the black shirt is my uncle.

ANSWER: A

Which word is a C-BB?
A. recur

B. motherly

C. hotdog

D. moron

ANSWER: A

Which sentence has a dependent clause?
A. I wonder if she will come.

B. That is my book.

C. Bill didn’t know his wife’s secret.

D. John stayed up late last night.

ANSWER: A
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Which word contains both derivational and inflectional morphemes?
A. atomized

B. international

C. immeasurable

D. booklet

ANSWER: A

Which sentence has an embedded clause?

A. What he told me does not matter to me.

B. I was feeling hungry, so I made myself a sandwich.
C. When I got here, the place was empty.

D. My grandmother hid some money under her pillow.

ANSWER: A

Which sentence has a subordinator?

A. Even though they were warned about the storm, they decided to go sailing.

B. She did not know when he would come back.
C. I decided to hang out with him.
D. They did not bring any snacks, nor did they bring drinks.

ANSWER: A

Which sentence is NOT ambiguous?

A. Mary is married to a young car salesman.
B. Climbing plants may look strange.

C. The spy saw the man with the binoculars.

D. She is an English history teacher.
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ANSWER: A

Which of the following phrases is a noun phrase?
A. a library with extensive collections

B. extremely happy with the results

C. can solve the problem

D. at the beginning of the party

ANSWER: A

SECTION 2
IC TREE DIAGRAM (8 questions, 2.4 marks — 0.3 each)

What is each numbered space best replaced with?

4

(]

NP
PartP
1
3
DET
PP
AP
N .
ART V-Part P NP
a HeadN
a little puppy running around the yard
A. 1: AdvP; 2: AP; 3: N’; 4: NP

=

.1: AP; 2: AP; 3: N’; 4: NP

@)

. 1: AdvP; 2: AdvP; 3: N’; 4: NP
D. 1: AdvP; 2: AP; 3: NP; 4: S

ANSWER: A
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What is each numbered space best replaced with?

%
g i
PP
;//”A\\\u
3 /\
DII:T N
ART /3\N.
bDEG ~ HeadA 1P |
A HeadN
really surprised at the negative result

A. 1: AP; 2: AdvP; 3: Adv; 4: NP
B. 1: VP; 2: AdvP; 3: Adv; 4: N’
C.1: AP; 2: AP; 3: Adv; 4: NP
D. 1: VP; 2: AP; 3: Adv; 4: N’

ANSWER: A

What is each numbered space best replaced with?

2 AdvP

I
A headN

examine the dead brLdy thoroughly
A.1: VP1; 2: VP2; 3: VP3; 4: N’1
B. 1: VPI1; 2: VP2; 3: V; 4. NP
C. 1:NP1;2: NP2; 3: VP; 4: N’1
D. 1: AP1; 2: AP2; 3: VP; 4: NP

ANSWER: A
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What is each numbered space best replaced with?

1

/\

PP VP2

N\

Verp

VAN

The woman in café  iswriting a  heartfelt letter.

A.1:8S;2:NP; 3: VP; 4: AP

B. 1:S;2: VP; 3: NP; 4: AdvP
C. 1:S’; 2: NP; 3: Varp; 4: AP
D. 1: NP; 2: NP; 3: VP; 4: AdvP

ANSWER: A

What is each numbered space best replaced with?

I

N NN

NP VP
Conj

LN PN

VP NP 2 VP

Ak

VP

She must water the trees regularly, or they may not produce any fruits.

A.1:VP; 2: AdvP, 3: NP; 4: S
B. 1: AP; 2: AP, 3: NP, 4: VP

C.1:NP;2: AP,3: NP 4: S
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D. 1: VP; 2: AdvP, 3: NP; 4: VP

ANSWER: A

What is each numbered space best replaced with?

NP1 / 1 \
vP2 AdvP
VP3 NP2 2
Frophl <7 ('()\w/ a4
DET N* o
7N PESY
AP2 N NP3 VP4
: AN
| | vl
verpl 3 Prol g NP
' Vgrp2
l A HeadN
A I I /\
I  have admired that talented musician since | was a teenager

A.1:VP; 2: S’; 3: DEM; 4: S
B.1: VP; 2: S’; 3: ART; 4: S’
C.1: VP;2:S;3: ART; 4: &
D.1:S’;2:S; 3: DEM; 4: S’

ANSWER: A
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What is each numbered space best replaced with?
s €
/\
NP, 1
P /\ 2

DET headN  V[trans] S’[ﬁnlte clause]

ART Comp /\
NP, VP

DET headN VP 4
DEM V[intens]  headA conj  headA

The teacher said that those students were smart and studious.

A.1: VP; 2: NP, 3: S; 4: AP
B.1:V;2:85,3: S, 4: AdvP
C.1:VP;2: S, 3: NP; 4: AP
D.1:V;2:S°,3: NP ; 4: AdvP

ANSWER: A

What is each numbered space best replaced with?

S1

\
NP1 1
| N
PRO1 VP2 I\I|P2 ?
PRO2 3
A" / \
Comp /82\
N|P4 VP
PRO3 VP4 NP5
| DET x“
"
| Ap/ AN
ART N’2
N\ l

DEG headA headN

He persuaded me that she was a very emotional girl.

A.1: VPI; 2: NP3;3:S’; 4: N’1
B. 1: VPI1; 2:S; 3: NP3; 4: N’1

C.1: AP; 2: NP3; 3: S’; 4: NP4
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D. 1: AP; 2: S’; 3: S; 4: NP4

ANSWER: A

PHAN TU LUAN (4.4 diém)
SECTION 3

Identify the different word-formation processes involved in producing each of the
underlined words in these sentences. (2 marks — 0.2 each)

Example: Could you please empty your bag?

Answer: Conversion

Question 1: There's some leftover pizza in the fridge if you're hungry.
Question 2: She needs to edit the article before it gets published.
Question 3: He is a native of this town.

Question 4: After a long week, I just want to chillax at home.
Question 5: Don't forget to pack your toothbrush for the trip.
Question 6: | took an aspirin to relieve my headache.

Question 7: He plays the piano beautifully at the concert.
Question 8: It seemed impossible to finish the project on time.
Question 9: She baked a batch of delicious cupcakes for the party.

Question 10: She maintained her calm during the crisis.

SECTION 4

Determine the form (N, V, Adj, Adv, or Uninflected Words — UW...), syntactic
function (Subj, DirObj, IndirObj, PreObj, SubjComp, Mod...), and position (Nominal,
Verbal, Adjectival, Adverbial) of the underlined word in each of the following
sentences. (2.4 marks — 0.3 each)

Example: Max was struck by lightning.

Answer: Form: Noun Function: PrepObyj Position: Nominal
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Question 1: Unfortunately, I didn't have my credit card with me, or else I would have
bought it.

Question 2: These insects drive me crazy.

Question 3: What he said was untrue.

Question 4: They’re still trying to think of a name for the baby.
Question 5: He poured me a drink.

Question 6: In _the beginning, she didn’t like him.

Question 7: An old man is waiting to use the phone.

Question 8: There was a cheerful picture on the wall.

PAP AN PHAN TU LUAN VA THANG PIEM

Phén ciu héi | Néi dung dap 4n Thang diém | Ghi cha
I. Tric nghiém 5.6
Part 1 Answer A 3.2 0.2d mdi
cau
Part 2 Answer A 2.4 0.3d moi
cau
II. Ty luén 4.4
Part 3 2.0 0.2d mdi
Dap an cau 1: clipping cau
Dap an cau 2: backformation
Dép an cau 3: conversion
Dép an cau 4: blending
Dép an cau 5: compounding
Dép an cau 6: coinage
Dép an cau 7: borrowing
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Dép an cau 8: derivation hodc
affixation

Dép an cau 9: compounding
Dap an cau 10: conversion

Part 4

Dap an cau 1: Form: adverb, Position:
adverbial, Function: adjunct

Dép an cau 2: Form: Adjective,
Position: Adjectival, Function: Object
complement

Dap an cau 3: Form: Adjective,
Position: Adjectival, Function:
Subject complement

Dap an cau 4: Form: Noun phrase,
Position: Nominal, Function: PrepO
Dap an cau 5: Form: Noun phrase,
Position: nominal, Function: direct
object

Dép an cau 6: Form: prepositional
phrase, Position: adverbial, Function:
adjunct

Dép an cau 7: Form: Noun phrase,
Position: Nominal, Function: Subject
Dép an cau 8: Form: adjective,
Position: adjectival, Function:
Modifier

24

0.3d mbi

Diém tong

10.0

Truwéng bo mon

TS. Nguyén Hoa Mai Phwong

TP. H6 Chi Minh, ngay 20 thang 2 ndm 2025

Gidng vién ra deé

“Jur—
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